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TR A DA (BE41: )

B B A &t —hRREt EFiTE rEXREE | HERAOELEE EFEEFEEE RBER AR—VLEH | 7 AYREE IRIEEAR -Ytv5- A -YReHR
EXMEZRARA 1,515,000 1,515,000
RENA 1,780,000 1,780,000
BERENA 132,054,000 132,054,000
BN FINA 1,015,971,000 114,597,000 97,620,000 11,437,000 228,380,000 507,585,000 42,828,000 13,524,000
BHEBIRA 65,624,000 41,104,000 1,000,000 23,520,000
HIRA 6,578,750 6,563,000 15,750
KBERINA 2,500,000 2,500,000
EIRRIRA 44,220,000 180,000 44,040,000
BAZIRA 4,425,000 4,425,000
A YR EHETEE 19,008,000 19,008,000
LEANAGE (A) 1,293,675,750 170,164,000 97,620,000 11,437,000 228,380,000 639,639,000 2,500,000 87,883,750 23,520,000 13,524,000 19,008,000
AR N =8 20,677,109 5,267,933 0 0 0 11,205,387 0 4,203,789 0 0 0
IRA&ET (B) 1,314,352,859 175,431,933 97,620,000 11,437,000 228,380,000 650,844,387 2,500,000 92,087,539 23,520,000 13,524,000 19,008,000




RZFPHRE
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I HOE (B M)

=] B ait —hR&E E e EAEXRER | BROALKER| EERFTEX ke 5 AR—VDER | T RAYREE | EE -V A IREHE

EER 588,646,000 132,058,000 97,620,000 11,437,000 208,046,000 86,047,000 23,520,000 10,910,000 19,008,000

ERGERERER 97,620,000 97,620,000

RABRAR—Y X HREEE 11,437,000 11,437,000

ZR—Y RN LR 208,046,000 208,046,000

AR—YV D EFRER 86,047,000 86,047,000

ZAR—Y 7 T RIBEEER 23,520,000 23,520,000

ERERAHERE 0

RN -V - R R B 10,910,000 10,910,000

REEER 810,000 810,000

ESEE S 18,078,000 18,078,000

EFRbEXR 3,225,000 3,225,000

EREER 12,345,000 12,345,000

BREER 91,000 91,000

TREERXR 7,726,000 7,726,000

INEEREERR 1,900,000 1,900,000

AR—ViREREE 85,583,000 85,583,000

e S 2,300,000 2,300,000
EHR 711,542,379 39,980,933 20,334,000 642,593,875 75,000 5,944,571 2,614,000
BHEREXH 11,543,512 3,293,000 8,250,512
B 2,425,000 2,425,000
Flagk 195,968 100,000 95,968
AR—YReHEXHRE 19,008,000 19,008,000
LEIZHAE (C) 1,314,352,859 175,431,933 97,620,000 11,437,000 228,380,000 650,844,387 2,500,000 92,087,539 23,520,000 13,524,000 19,008,000
LA HESE (A)— (C) A 20,677,109 A 5,267,933 0 0 0 A 11,205,387 0 A 4,203,789 0 0 0
REPGHINZEE (B)— (C) 0 0 0 0 0 0 0 0 0 0 0




